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Parallel Lines cut by a Transversal N2

Same Side Interior Angles are Supplementary

Interior angles on the same side of the transversal formed by the transversal and parallel lines are supplementary. When traced, same side interior angles look like a “[” or a “]”.



Example:



If AB || CD, then in both cases above     1 and      2 are interior angles on the same side of the transversal and add up to 180o.

1.  If m     1 = 112o and m     2 = (3x + 20)o 

2.  If m     1 = (2x + 32)o and m    2 = (4x + 28)o
Find the measure of angle 1 and 2.


Find the measure of angle 1 and 2.


3.  In the diagram below, AB would be parallel
4. In the diagram below, AB would be parallel to 

to CD if x equals ________. 



CD if x equals ________.



5.  Find the measure of each indicated angle.

6. Find the measure of each indicated angle.
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Find the answer for any exercise below in the CODE KEY. Notice the letter next toit.

I .
Keep working and you will discover the answer to the title question. (Assume that lines
in each figure which do not intersect are parallel.) :

—
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In_the first figure at the right, find: 13?7/ 40° |N
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In the third figure, find: -
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In the fourth figure, find:
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